FAOEFINL—R—LKFEL) T8 S¥s#m F&
Q&) —VE B
[0 RFZA BE | B [Bty &ty Mty rR[BEA[BEE[axax
1 |BERIERXE] 4 1 9 3 [3.0000 [ 289 261 [1.1073
2 [BIEXFEFE[ 3 2 7 4 11.7500 | 252 | 249 [1.0120
3 | RIITEXZE 3 2 7 6 [1.1667 | 312 | 293 [1.0648
4 | LB XRFEIFE 3 2 7 7 |1.0000 [ 316 311 [1.0161
b [EIX=wFER[ 2 3 5 7 [0.7143 | 301 286 |[1.0524
6 [FHiXIEZEXRE| 0 5 2 10 [o0.2000 | 227 297 [0.7643
XTI RiLE BRIX XA KR B[4 BRE
1] O 2125 - 1210 2]25 - 18] 1|0 2|26 — 28] 1| x 1]25 - 23] 2[x 022 - 25
j<¥ 17 — 25 15 — 25 25 — 15 15 — 25 18 — 25
T 25 — 22 25 — 20| 25 — 18 28 — 30|
1 O 2|25 - 21]10|0 2|25 - 18]0|O 2|25 - 22]0|x O]25 - 27
it X ¥ 25 — 21 25 — 21 29 — 27 14 - 25
=
® 0 221 - 25]1]|0 2|34 - 32]0|0 225 - 21
T X x ¥ 25 — 13 25 — 22 24 — 2%
o 25 — 13 28 — 26
X x 0]18 — 2502 x O]14 - 25
1] x x x ¥ 23 — 25 21 — 25
X
1 x 1]22 - 25
! O O |2 ||
i X X 25 - 14
: OO O | O |2
B
R X




FAERIENL—AR—ILKEFX)—J8 BF38m  IELRE
O@EGLRE) — V8 IBRIE
5% RFZA B | B [Bty &ty Mty rR[BEA[BEE[axax
1 |@BRIERKFE] 6 1 13 4 [3.2500 | 400 354 [1.1299
2 | RITITEXZF 4 3 9 9 [1.0000 [ 425 | 414 [1.0266
3 | Rt XRFEFE 3 4 9 8 [1.1250 [ 374 | 381 [0.9816
4 | mltXRFwEFE|[ 4 3 9 7 |1.2857 | 401 357 [1.1232
5 | UL RFIFER| 3 4 7 11 [0.6364 | 388 | 411 [0.9440
6 [FHIXIEZEXRFE| 1 6 4 12 10.3333 | 310 381 [0.8136
Xt —FETR)— T DIBLO A FITHEL
RBEE BIE HLK MXT BRIt XIEXR
= O 2|25 - 10]1|0O 2|25 - 23]0
=] ¥ 11 - 25 25 — 19
= 25 — 16
B x 1]25 - 20] 2
3t x ¥ 22 — 25
= 2 - 26
: O |2
T
7 X
1] x 0]23 - 2502 x 0|14 - 252
PN ¥ 15 — 25 20 — 25
T
1 O 2|25 - 18]0
it O ¥ 25 — 15
5
X
: O
PN




